Y7 [
[ESF

—All for dreams

FLE <UWARAVE

5 B 1R A AR E W

A High precision reducer

WP series

www.nidec-shimpo.co.jp EK@FﬁE(ﬁEI)EBEﬁE]

NIDEC-SHIMPO (ZHEJIANG) CORPORATION



FLEXWAVE hits the scene

FLEXWAVE g4

FLEX WAVE

"BAES ERRMNEFHES,
N

ML ATKRIEN, $HxTHEs ?:iﬁllﬁ:}ﬁ RALEVER T IR &
BNCEESEFRNEARAAE

TR TANHEEMEZRMEERSE. KiELk. KERAREL,
“FLEXWAVE". #MELIE, BRNE#E,

iEEREEL B8 A RALIK & = Fh .

"Relentless Refinement of Technology",

Nidec-Shimpo Corporation is a global leader in various high precision gear
technologies. Based on increased demand for higher accuracy from machine
tool and robot manufacturers, we've utilized our expertise to develop a new

gear reduction mechanism. .

This mechanism, called Flexwave, addresses the need for high torque
density in a lightweight, compact package, combined with zero backlash
and high reduction ratios. As a result, manufacturers of high performance
robots, machine tools and other automation equipment will see increased
performance and competitiveness in their respective markets.




TER A A

R4

TEME BIR RELE

RUEHIES | Hik

Rt

Dimensions Table

iR

Closed Type
I - 8
9*) H'.)’ Component
@ el :
Nt . Unit
Open type
) IEEZETEEE - 10
%EU” Simple unit

AER (hH) 11

Hollow unit

AEE (MA\H) e

Input shaft unit

2 Sk 13
Model selection
HEmitE (HEEEHR) R

Estimated part life (Elastic bearing

HFitE (EHR) - 15

Estimated part life (Main bearing)

58\ 3 A T2 -+ 17
Input shaft max. load
i 5 7
lubricant information
£S5 1%E -+ 19
Attachment fixture requirement
B NERADIE -+ 20
Transmitting Torque

i\ ARLIIE -+ 23

Input section structure

EEEI 24
Installation and assembly instruction

A LERE - 25
Motor installation procedure

IR 26

Characteristics Data

|\_/

2|
.
=

HIELES [ A& -+ 33

Reducer Model / Specifications

R~t% -+ 34

Dimensions Table




- TEBH A X

Parts Configuration

i‘f fZﬂ fn! Closed Type

WpC- L1 - L1-CN (CF) WPU- [ - ] -CN (CF)
Coreonne -

b AT

?FHSI?.E Open type

WPU- [ - [ -SNJ WPU- [ - O -SNH
Open e o e Open e

BHHEEGE HAEE (WA HAE (hzh)

% R FIEEE Mg

(HER) (B, TH) (B, TH)
Cam Elastic bearing Flex gear Internal gear
(elliptic) (thin / flexible) (thin / flexible)



R4

Reduction Mechanism

B OREEEMR. ZHEEREWEIRTEE,
 XHERSNEREREEKEBIZEES.

- BlEANEE, FEOREIREEAEERE 360° B, EHERSHAYEREAEEINNE
RS XM ERNEHELRSS.

* Flex gear and elastic bearing take elliptic shape with the cam inserted.

- Flex gear and internal gear are engaged at both ends of the long axis of the ellipse in a stable manner.

- With the internal gear fixed, when the cam (input) is rotated clockwise, the flex gear (output) rotates
counterclockwise. And its rotational speed is determined by the tooth count differential between two gears.




aB on B i

Parts Name

Internal gear
FEER

Flex gear

Flex gear

ElER AR

Elliptic cam

l
[Iil 1

) Fiki FFHREY
Closed type Open type

R L

Reduction Ratio

ML = ——

Reduction ratio R

XEMTERE T 10 5 i H AR A @ R

*The input and output rotation directions are opposite.

Input

Output

L = —L

Reduction ratio R+1

AN TESE 7T 10 5 M H e A 77 [E14E )

*The input and output rotation directions are same.

@ R ARLER R R P EYRLE L

R represents the 'Ratio’ figure in the specifications table on the next page.






FLEXWAVE
LA S/ HHE

A i
Peq W By %

I m%*ﬂiﬂ% Reducer Model Nomenclature

wp J[c]-[ 35 |-[ 50 |-[ cN ][ **
%F'blffﬁ RPN

Specifications: Input shaft diameter, etc.

{RFZ* . CN., CF. SN. SNH. SNJ
Code MRMIEFESBRTE

For the code details, please check the

. »ﬁﬁtt : 50\ 80~ 100\ 120 Dimensions Table.

Ratio
L R~F: 35, 42, 50, 63, 80
size @ EX{IL R Availability
- ;’éﬂ . C"'%M’-'Fﬁ! Ratio matrix
S RAaR o " 50 | 80 | 100 | 120
VR -FET =
AET ()
HER (h=H) 42
. Type : C...Component type 50
%ﬁu%ﬁ( . wp ’%ﬁu S...Simple unit type 63
Series name : WP Series U...Unit type
Input shaft unit 80
Hollow unit
mﬁ*ﬂ*ﬂ*ﬁ‘ Reducer Specifications
X 2 X3 X4 X5 X6
WoELE | BFTEHNE BHERKNE ZREXNE | FFEHBANERE | STFRERANEE
§TJ— Ratio Nominal output torque | Maximum output torque | Emergency stop torque Nominal input speed Maximum input speed
ize 1
R
[Nm] [Nm] [Nm] [r/min] [r/min]
50 7 23 46
35 80 9 27 55 3000 8500
100 9 32 63
50 21 44 91
80 26 50 102
42 3000 7300
100 28 63 129
120 28 63 129
50 33 73 127
80 40 86 149
50 3000 6500
100 47 96 172
120 47 96 172
50 51 127 242
80 66 142 266
63 3000 5600
100 70 163 295
120 70 163 295
50 89 253 447
80 122 316 590
80 3000 4800
100 142 346 673
120 142 346 673
X115 RERNGITTATAARA, KEBRELL *1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
32 N EEIR A 2000r/min BRI B IFR KE *2 The maximum allowable value at the input rotation speed of 2000r/min
%3 B EERNNRFRKRE *3 The maximum torque when starting and stopping.
¥4 KEETHNEIFRKE *4 The maximum torque when it receives shock.
W5 EHIRER, FHRARENTITFRAE *5 The maximum average input speed.

X6 IEFHIEF, MARENATTFRAE *6 The maximum input speed.



\prw

NNES

L ES B =]
WPC-[O-[ -CN
WPC-[O -0 -CF

LE
LF LM
LH LG
HD cY
(94
% 2-LT N-9LU
- ¢
2-5V M-@¢ST \ -6 >
_ @
f w(J59)
1l
_ i N 1
| I 2 SV ol | E [[ TC ‘
o| 8 €| =| CA 8| 8| pJ
s by E/ s /
1 n— y piig
< ‘
1 | 4
of &
o NZs $SH (HT)
I s
= RSB
RT-'- Weight Moment of inertia
Size ke X107 kgm?
35 0.10 0.0383
42 0.17 0.0855
50 0.26 0.207
INPUT SHAFT FOR 35842 63 043 0544
80 0.91 1.63

[mm]

R~ LA LB LC N LU LT LE LF LG LH LM SG SH SL w

Size

35 44 38 50 8(6) | 35 M3 285 | 175 6 2 1 15.8 6 18.5 -
42 54 48 60 |16 (12)[ 3.5 M3 32.5 20 6.5 2.5 125 | 158 8 20.7 -
50 62 54 70 (16 (12)] 35 M3 335 | 215 75 3 12 248 12 21.5 4
63 75 67 85 |16 (12)| 45 M4 37 24 10 3 13 27.8 14 21.6 5
80 100 90 110 |16 (12)| 5.5 M5 44 28 14 3 16 278 14 23.6 5

Rt T SuU SA SB SD M ST SV HD CA CB CX CY CZ

Size

35 - 25 17 11 235 6 45 M3 24 C0.5 | C0.3 17 1 38

42 - 3 19 10 27 6 5.5 M3 3 C0.5 | C0.3 19 1 45

50 13.8 - 24 16 32 8 5.5 M3 3 C0.5 | C0.5 | 20.5 1.5 53

63 16.3 - 30 20 40 8 6.5 M4 3 C0.5 | C0.5 23 1.5 66

80 16.3 - 40 26 52 8 8.8 M5 3.2 C0.5 | C0.5 | 26.8 1.5 86
¥1-CNE-CFRR~SFARE, () AA-CFHHE. *1 -CN and -CF are different in dimensions. The -CF value is shownin ( ).
%2 RFMNEMLIESS, ESBEMRTE, *2 For details in the input section, please check the drawings.



B AR AR

WPU-O- 0O -CN
WPU-O -0 -CF

LE
LF LM
LH LG LK
Y ring N-LU
o N-LT
-ring
-OH— N
— L e ~ S
: ’ W(JS9)
— —l: : Q(0 —_ 5 )-- 11
E Zlu [S/ECINW E U [
@ = @ QI 8| 8|=|s & 13 v Sb
) s hd \
= - 1 ) ]
| \ /
“] g ~ 7
HD _{}‘—
> ®SH (H7)
X SL
= R SI2E
RTJ- Weight Moment of inertia
Size ke x10 *kgm®
35 0.50 0.0377
INPUT SHAFT FOR 35842 42 0.68 0.0856
50 0.95 0.207
63 1.5 0.544
80 3.3 1.63
[mm]
EzTej- LA LB LC LD N LT LU LE LF LG LH LK LM DB SG
35 65 56 73 31 8 (6) M4 45 41 27 7 3.5 2 14 38 15.8
42 71 63 79 38 8 (6) M4 45 45 29 8 4 2 16 48 15.8
50 82 72 93 45 8 (6) M5 55 455 28 10 5 3 175 56 248
63 96 86 107 58 10(8)| M5 55 52 36 10 5 3 16 67 27.8
80 125 113 138 78 12 M6 6.5 62 45 12 5 3 17 90 27.8
Jg;e'r SH SL W T SuU SA SB SC M ST HD CX CY Cz
35 6 18.5 - - 25 23 11 8 6 M4 x 8 9.5 1.6 1 38
42 8 20.7 - - 3 27 10 7 6 M5 x 8 9.5 1.3 1 45
50 12 215 4 13.8 - 32 14 10 8 M6 X 9 9 1.5 1.5 53
63 14 21.6 5 16.3 - 42 20 15 8 M8 x10[ 12 34 1.5 66
80 14 23.6 5 16.3 - 55 26 20 8 [MI0x12 15 5.2 1.5 86

¥1-CN R -CF FRSTARRE. () WA -CFRHIE.
X2 XRFMNELLIEE, ESRBEMRTHE,

*1 -CN and -CF are different in dimensions. The -CF value is shown in ( ).
*2 For details in the input section, please check the drawings.



\prw

NES

R+ = R SIZE
. sk k Weight Moment of inertia
I ﬂ:ﬁigg 8] ggﬂéglzj. Size ke 10 kg’
Open type, Simple unit
35 0.39 0.0391
WPS' D = D ‘SN 42 0.55 0.0870
50 0.79 0.209
63 1.3 0.549
80 2.7 1.65
LE
LF LM
sC L) _LH
M-#ST LG
Y
N-LT
=N o
! w(Js9)
=<l |F > sl= A \
Z|Z| = ol £ E 14
g|8ls s|91g|8 3
S| & ; - AS3 \ \I_
4 l 5 psH IH7)
= \(b‘y
V.
< sL Jon f‘r"iﬂ\““
Pun FlﬂUAL \ * e/20FauA ¥
T ] 'l I T
Yo A b
o !_x’ |
o I
“N-LT" "NLT"
NPUT SHAFT FOR 35842 ARRANGEMENT FOR35 ~ ARRANGEMENT FOR 42

[mm]

’;j IAlic| tE|F|ie|tH|w|wwm|sa|sh|s.|w/| T ]|sulsalss

35 | 44 | 50 | 285|235 6 | 7 |1a1| 5 158 6 [185] - | - | 25 | 64 | 4s

42 | 54 | 60 | 325|265 |65 | 75| 16 | 6 |[158| 8 [207] - | - | 3 | 714 | 60

50 | 62 | 70 | 335 | 20 | 75 | 85 | 175 | 45 | 248 | 12 | 215 4 |138| - | sa | 70

63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 |278] 14 {216 5 |163| - | 102 ] ss

80 | 100 | 110 | 44 | a2 | 14 | 15 | 234 | 2 |278] 14 {236 | 5 |163| - | 132 | 114
Ez sc|sp| m |st|lcaloy|cz|cov|cowl| N LT

35 24 70 8 3.5 | C03 1 38 1.6 31 8 M3 X 5, ¢ 35 X 6

42 3 80 12 35 | C0.3 1 45 2 37 16 |M3 X 6, ¢ 3.5 X 6.5
50 3 90 12 35 | C03 | 15 53 2 44 16 [M3 x 6, ¢ 35 x 7.5
63 3.3 110 12 45 | C03 | 15 66 2 56 16 (M4 x 7, ¢ 45 x 10
80 3.6 142 12 55 | CO5 | 15 86 2 72 16 |M5 X 8, ¢ 55 x 14
1 RFMANBAIERE, ESRBAKRTE, *1 For details in the input section, please check the drawings.

10



Rt B8 RIE D 5E
= ) Q A H > X k Weight Moment of inertia

I ﬂ:ﬁi:: —\H A== (I:F EEEEI) Size ke 10 "Kkgm”
Open type, Unit (hollow shaft) T 057 0103
WPU' D = D 'SNH 42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 34 3.18

LE
LG LF LH
LLL LK LJ

$SE (h7)
#SD [h7)
#SC (H7)
$SC (H)
#LB (h7)
BLC
#LD (h7)

La

LP =

)"J:\ s i ’ X
Fom E!uu:L\'ﬂ 16/20 FQUAL
k : T 1 I 1
'\1 ! x" }S'\‘ i !
T ‘é\i.—ir
LT NLT"
INPUT SHAFT FOR 35412 ARRANGEMENT FOR35  ARRANGEMENT FOR 42
[mm]
Ez_\ej- LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
35 44 36 54 70 52.5 20.5 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 215 8.5 8.5 10 25 55 6.5
50 62 50 75 90 515 25 5 215 7 9 10.5 - - -
63 717 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 5 95 12 - - -
Ez_g sA | sB | sc | so|sE|sF| ™M |sT]|sul| N LT
35 64 - 14 20 74 36 8 3.5 M3 8 M3 X 5 ¢ 35 % 115
42 74 - 19 25 84 45 12 3.5 M3 16 M3 X 6, ¢ 35 x 12
50 84 255 21 30 95 - 12 35 |M3 X 6| 16 M3 X 6, ¢ 3.5 x 135
63 102 33.5 29 38 115 - 12 45 M3 X 6] 16 M4 X 7, ¢ 45 x 155
80 132 40.5 36 45 147 - 12 55 [M3 X 6] 16 M5 X 8, ¢ 55 X 20.5

11



\prw

et B {75
I FFRE AAE (RN S T T
Open type, Unit (input shaft)
35 0.48 0.0376
WPU- [ - O -SNJ 42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74
LE
LG LF LH
LL LK LJ

B

@SE (h7)
¢SB<_>thl
#LB (h7)
PLC
@LD (h7)

c +
er ) ,—4i- )l,n/° .*ni
Ponaeaual ? w20 auAL
Lo L4 S
N S |~

.|

LT NLT
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42

[mm]

E;’L A | B | |w|w|wr|lw|w|w!|w!|Lw]|rw]|Lw]L
35 | 44 | 36 | 54 | 70 | 505 | 205 | 15 | 15 | 25 | 8 9 11 - -
42 | 54 | 45 | 64 | 80 | s6 | 23 | 17 | 16 3 | ss5 | 10| 12 - -
50 | 62 | 50 | 75 | 90 |e3s5 | 25 | 21 | 175 | 3 o 105 | - | 165 ] 20
63 | 77 | 60 | 90 | 110 | 725 | 26 | 26 | 205 | 3 | 85 | 105 | - | 225 | 25
80 | 100 | 85 | 115 | 142 | 845 | 32 | 26 | 265 | 5 | 95 | 12 ~ | 225 | 25
Ez sA | sB | sc | se | sv|sw| ™M | stT| sul| N LT

35 | 64 6 - 74 - - 8 | 35 | - 8 |M3x5 ¢35x115

42 | 74 8 - 84 - - 12 | 35 | - 16 | M3x6, ¢35x12

50 | 84 | 10 | 82 | 95 3 3 12 | 35 [M3x6 16 |M3x6 ¢35x135

63 | 102 | 14 | 11 | 115 | s 5 12 | 45 M3 x6| 16 |Max7 ¢45x 155

g0 | 132 | 14 | 11 | 147 ] 5 5 12 | 55 [M3x6 16 |M5x8 ¢55x 205

12



FLEXWAVE

B2t

YA N

L3 s 20
BB SIEERIE Vodel selection flow

WIATE N ZRGEN Y AT S

PME N - PR - EESE
FRAMENE - REEE - HEGAE

- hiESTE
Operation condition of the reducer P ﬁ%ikf‘ Tﬁ"%ﬁ:
. ~ N b
* Average output torque * Radial load Re-evaluate the operation contidion
+ Maximum output torque « Axial load
+ Average rotation speed + Moment load

» Maximum rotation speed

<€

ERHEERENES

Temporary selection of a model

TN BB R A

Calculate the life span for the elastic bearing

NG

NS S

Calculate the life span for the main bearing

NG

TRIAS N B DA 1o

Calculate the load condition at the input bearing

NG

AR S

Re-evaluation of the model

HERENES

Reducer selected

13



\prw

(B )

. EEI:‘:-EEH ﬁkﬁﬁ-ﬁ-ﬁ Life span for the elastic bearing

[ EE;‘@&-{ Operation cycle example
T, | |
s [Tl |
Working torque i '|'3 | T4
3 Aif[a]
i Time
Ny
ny_\n3
i 451 N4
Output rotati N
spuegg R t t t ‘ HT.“EH
Time
OFH/HNE / RREHDERNTE
Calculation formula for output torque
I}Ziﬁ]ﬁﬁ]tﬂj}%ﬁ Tao Nm | Tao=s nlotl.m‘3+n2-t2.TZ‘3+-..+nn-tn.7:L‘3
Average output torque ne tz _|_n2 . tg...nn. tn

B K S5 oo | N |Zm0 = T0r T oo T, BOBATE

Peak output torque value Tmo = Largestamong T,, T,, ... T,

B ARRAENEARIFERBHELT.

Please make sure the peak output torque is below the maximum output torque in the specification table

QFHMAREE / REWANEENITE

Calculation formula for input speed

37 A e _nl't1+n2°t2"'n °t
$i”]§ﬁ$$§£ nao |r/min NGO = —t
Average output rotation speed tI + t2 + eee + tn
1= 4 H IR . |\nmo = n;, n,, ***n, IRAXE
) nmo | r/min
Peak output rotation speed nmo = Largest among n,, N, ... N,
A$i’>]$ﬁ_’|i)\$§1?s nai |r/min|nai=nao xR (R=RiELL ) (R =ratio)
verage input speed
=ia N ERIE

nmi | r/min | nmi=nmox Rk (R=FELL ) (R=ratio)

Peak input speed value

BERHARSMABEARTESBANEREUT,

Please make sure the peak input speed value is below the maximum input speed in the specification table

®F At EAITE

Calculation formula for life span

i 2 i 7 5 A Lhe | h | Lhe = ro00x (127 x (o
Part life span for the elastic bearing Tao nai
BENE Tor | N | PEBERFREHE AR5
Rating torque Nominal output torque in the specification table
!‘-ﬁ.—‘q » q . .
. g)"tiﬁ)\ﬁﬁ nar | r/min | 2000 r/min
Rating input rotation speed

14



FLEXWAVE :
EitE (EHR)

Vg 1t

i

[ | EEEEI ﬁ(;ﬂ*g (QRIZ“E%EE 7?() Main bearing specification(Cross roller bearing)

373 + 1z . P oo,
(RMTEEE | mmm | RASSHERH [EABSEERN BENE | N\
ften circle diameter o Offset Basic dynamic load rating| Basic static load rating | Allowable moment| Moment rigidity
E=y]| R~ the bearing rollers
Series Size Dm L C Co Mal Km
m m N N Nm x 10" Nm/rad
35 0.0335 0.0088 5620 6540 36.5 7.35
42 0.0410 0.0098 6340 8170 55.8 8.02
WPU- O -0-CO| 50 0.0485 0.0098 10400 13300 91.0 13.5
63 0.0620 0.0108 15800 21100 156 27.7
80 0.0815 0.0128 24400 35600 313 66.0
35 0.0505 0.0162 7110 10200 74.0 144
42 0.0598 0.0180 10900 15200 124 19.7
WPS-O-O-SN| 50 0.0708 0.0194 17200 24700 187 40.1
63 0.0856 0.0234 25100 37400 258 71.5
80 0.114 0.0292 43300 67600 580 188
35 0.0505 0.0217 7110 10200 74.0 144
WPU- O - O -SNH 42 0.0598 0.0235 10900 15200 124 19.7
WPU- O - 00 -SNJ 50 0.0708 0.0254 17200 24700 187 40.1
63 0.0856 0.0289 25100 37400 258 71.5
80 0.114 0.0357 43300 67600 580 188

. EEE ﬁzﬁﬁi-l-% Part life span for the main bearing

[ iﬁ%%‘éﬂ Operation cycle example

Fr, | |
Fr, ! i
s | i
Radialload | | Fra e i8]
i i i Time
Fa,
e Fa2
i 1) S TR Fa
Axial load A - il
! 3 T8
i ! ! Time
R Ny
Output rotation .
speed |t |ty |ty ‘ it /8]
Time
W SMER TR
External load L
Lr L FL L
N u AN Ay J;

Hﬂ7 |

I,

Dm
Dm
| |

Dm

| I
Dm

(V4

15



\prw

EHTE (TMR)

ORAXRFRENITE

Calculation formula for the largest working moment

= =1

Eikjﬁ\.ﬁ[ L Mm | Nm |Mm =Frm * (Lr+L) +Fam *+ La
Peak working moment

BRRKEEAR Frm N Frm = Fr,, Fr, ==* Fr, BIRKXE

Peak radial load Frm = Largest among Fry, Fr,, ... Fr,

B kB 8 7 Fam | N |Fam = Fas Fa oo Fa, BRATE

Peak axial load Fam = Largest among Fa,, Fa,, ... Fa,

ERIARKRAFREABTIFREEUT,
Please make sure the peak working moment is below the maximum allowable moment

QFHEm G / ME A / FHEHEE / R RENITE

Calculation formula for the Average radial load, Axial load, Average output rotation speed, Average working moment

T2 B T Fra | N gy Fr| 72 +nyt ty+|Fry| 72 4 eeo4n, ot | |
Average radial load Fra=
net;+nycty+ecetn o,
" 19/ 19/ 19/
$i:>\3$mr'-ﬂﬁi1if Faa | N |puge'% nt o |Fa|” +nyot, |Fa,| ++ee+n, 1, <|Fa,
xial load
Nt Fnyet,Feeetn, of,
T 1A s n et +n,°t,*>°n_-t
Averagiﬁfﬁiﬁﬁ% speed nao | r/min | NA0= * l+ 2+ - + —
Gt Gttt
SFié]ﬁﬁﬁ‘mE Ma Nm |Ma=Fra* (Lr+L) +Faa * La
Average working moment

ORFEY / HEENEEAFTHITE

Calculation formula for the Loading factor, Equivalent radial load

Faa

=1.5 f#,Xc=10, Yc=045
FHa+ 2Ma/Dm

ARRY

Loading factor Xe, Ye -
> 1.5 ﬂ?‘,Xc =0.67, Yc=0.67
FHa +2Ma/Dm
NEEMEE AR = Y- .
Equivalent radial load Pc N |Pc=Xc+ (Fra +2M3/Dm) + Yc * Faa

@ X & FF B A BT B

Life span for the main bearing

10
X AR A A ) 10° C \3
Life span for theFrI:ain bearing Lhe h Lhc = 60 - nao * fw - Pc )
1.0 : R EHRT no shock
lﬁ:i}fir fw - 1.2 : (R EmEERT  with some shock
1.5 : {EREIRFIMER with shock and vibration




17

FLEXWAVE

56\ 5l 21 A 1A
put

M 2

[ | Eﬂiﬁ‘ﬁ'ﬁg (;Hﬂgg, gﬂéﬂ:ﬂ) Bearing specification (Open type, Unit)

& A A& B
Bearing A Bearing B
Z5| Rt | BASSIE AR | BASSOERA T | BEXANSTMELRT | BABRSMEAR| b
Series Size |Basic dynamic load rating| Basic static load rating |Basic dynamic load rating| Basic static load rating
C Co C Co
N N N N mm mm
35 4000 2470 4000 2470 16 27
42 4300 2950 4300 2950 16 31
WPU-O-0O-SNH| 50 4500 3450 4500 3450 145 275
63 4900 4350 4900 4350 15.5 30.8
80 14100 10900 5350 5250 19 37.0
85 2240 910 1080 430 24 215
42 2700 1270 1610 710 27 235
WPU- O - 0 -SNJ 50 4350 2260 2240 910 315 26
63 5600 2830 2700 1270 375 29
80 9400 5000 4350 2260 39 38.5
B A — A& A —
Bearing A ih& B Bearing A & B
L 1 Bearing B B Bearing B
| 5 \[glj}\/ Xq
s E@f
il
1 |5
a b a b
WEFAE (EHHNEE : 2000r/min, FHA5AT/E : 7000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h)
WPU-[I -0 -SNH WPU-[ - -SNJ
800 35 500 35
\ e 1) )
450
700 \ —50 \ e 50
400
600 63 \ —63
\ e 80 350 \ 80
500 300
= \ z N\
- 400 - 250
[ \ [ \
N 200 VN
#2330 o R N AN
e \ \ <2 150
.lKEH _% 200 \ \ \ E % 100 _\ \\ \
= N~ X
100 N N 50 NN NN\
NN\
0 T T T 1 O T T 1
0 100 200 300 400 0 100 200 300
) 7175 Fa [N] 5 5375 Fa [N]
Axial load Axial load




\prw

i i 1

.il‘ﬂ iﬁ'?f'] H@”ﬁﬁﬁ Grease
Sumiplex MP No.2 (A A £ iEiB F#k X &4t)

Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.)

. ﬂ‘ﬂ i’% ?f'] E,‘] il% HE Grease application
WPC (EB42!) R WPS (BZARE) REBTRERKKIEBFT,

For WPC (Component type) and WPS (Simple unit type), please apply grease according to the table below.

| ilﬂ I'E'%IJ iz%?*% Grease application [g]
R~ IRIREBAL Applied part
Size A B c D
35 0.3 0.3 6.0 0.3
42 0.5 0.5 10 05
50 0.8 0.8 16 08
63 1.5 1.5 30 15
80 3.0 30 60 3.0

[ | ilﬂ I%?f'] i,%HEEME Grease application location

WPC WPU WPS

ANl B

o

gl
=

Bl
B =l

BE BEREAZTRHI50%
$E
EREBZRII5% : wE EREAZERAII50%
T ij 1
QLLJJH | (= S ij
Lﬁ[tn::(ttlfj il {tHo: ;
L+J
[41#]::@1 rh )
A ] [ R ] sy
P2 \IERE ATR50% i d“ jﬁ i P2\ ERE ATRIH50%
casing fill 50% of the gap in volume = E?‘Eéﬁgfﬁﬁ"]%%

18



FLEXWAVE

RRAE

B BBAL

Input
section

Output

section I
-—J

19

WPC [mm]
RI.TJ- 35 42 50 63 80
Size
a 0.015 0.015 0.018 0.018 0.023
b 0.016 0.020 0.020 0.024 0.024
© 0.010 0.012 0.014 0.016 0.020
d 0.013 0.013 0.015 0.018 0.020
e 0.012 0.012 0.014 0.016 0.016
f 0.016 0.020 0.024 0.024 0.024
WPU 17 = ] WPS L] a [A
I - @m
HNFBAL BN EBAL
Input Input
section section
L[ b [A J[
]
& %
WPU [mm] WPS [mm]
R.Tj- 35 42 50 63 80 R.Tj- 35 42 50 63 80
Size Size
a 0.020 0.020 0.020 0.025 0.025 a 0.020 0.020 0.020 0.025 0.025
b 0.012 0.012 0.014 0.016 0.016 b 0.012 0.012 0.014 0.016 0.016
G 0.016 0.020 0.024 0.024 0.024 G 0.016 0.020 0.024 0.024 0.024




\prw

&5 7156

.§ %%ﬂj%é_é Bolting

42 22 X [E H FE W T RFTR,
BEBLNE (B -CF. -C(NTIARE) REBENERE, AESHEFEER, UG IERIA
Please refer to the table below for the bolt tightening torque.

Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

. E% é_é l}-f’y: IEI jj %E Tightening torque for bolts

1224 R~T Bolt size M3 M4 M5 M6 M8 M10
EEJI%E [Nm] |Tightening torque 1.9 43 8.7 15 36 1A

HEEWRL  BERS 129 E

Recommended bolt : Strength rating above 12.9

WESHE (HAZ., AEE)

Bolt specifications and Transmitting torque (Closed type, Unit)

§ ﬂx%iﬁ'] II:EI ifé Output flange attachment

R~ Size 35 42 50 63 80
IREERT Bolt size M4 M5 M6 M8 M10
BN Bolt count 6 6 8 8 3
%% PCD [mm] _[Bolt PCD 23 27 32 42 55
RESEE [Nm] [Tightening torque 4.3 8.7 15 36 71
{£5 % [Nm] |Transmitting torque 56 106 238 566 1177

?Cﬁm"lfliﬁ (CN) Internal Gear Attachment

R~ Size 35 42 50 63 80
W2 24 R~} Bolt size M4 M4 M5 M5 M6
IBL2 AN Bolt count 8 8 8 10 12
%% PCD [mm]  |Bolt PGD 65 71 82 96 125
KE 1% [Nm]  |Tightening torque 43 43 8.7 8.7 15
2% [Nm] [Transmitting torque 210 230 430 629 1392

LENRNEE (CF) internal Gear Attachment

R~ Size 35 42 50 63 80

W22 R~F Bolt size M4 M4 M5 M5 -

m,ﬁ%ﬁ/[\ﬂ Bolt count 6 6 6 8 -

Z4£ PCD [mm] [Bolt PCD 65 71 82 96 -

KE 1% [Nm] |Tightening torque 43 43 8.7 8.7 -

{£8 5% [Nm] |Transmitting torque 158 172 322 503 -
BRAGE

Internal gear attachment "\

LZEMEE=
Output flange attachment\

20



FLEXWAVE

£ %5

WESHE (FHAR. SR

Bolt specifications and Transmitting torque (Closed type, Component)

LEFMHEE Flex Gear Attachment

R~ Size 35 42 50 63 80
1222 R~ Bolt size M4 M5 M5 M6 M8
W8 22 N5 Bolt count 6 6 8 8 8
24E PCD [mm] |Bolt PCD 17 19 24 30 40
',%[E]j]%ﬁ [Nm] Tightening torque 43 8.7 8.7 15 36
1£5 7158 [Nm] Transmitting torque 41 75 126 223 539
%HC%% W Jlfli’l? (CN) Internal Gear Attachment

R~ Size 35 42 50 63 80
18 44 R~ Bolt size M3 M3 M3 M4 M5
BB 22 AN EL Bolt count 8 16 16 16 16
2% PCD [mm] [Bolt PCD 44 54 62 75 100
WREFHE [Nm] |[Tightening torque 1.9 1.9 1.9 43 8.7
£ 5 71% [Nm] |Transmitting torque 82 200 230 485 1048
?é‘é W JIJEIEIL': (CF) Internal Gear Attachment

R~ Size 85 42 50 63 80
W8 22 R~ Bolt size M3 M3 M3 M4 M5
W 24 AN Bolt count 6 12 12 12 12
Z%£ PCD [mm] |Bolt PCD 44 54 62 75 100
ZEHEE [Nm] Tightening torque 1.9 19 1.9 43 8.7
£S5 7% [Nm]  |Transmitting torque 61 150 172 364 786

RERAEE

Internal gear attachment

I ! |

RERFMER 1
Flex gear attachment

’%ﬁ%ﬂ, El(] iEj]ﬂ Reinforcement

FHEARRRENESNERHEERE, BRMERHET,
HFFLATIRSER RIEM.

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

T AL HF7L

Thru hole for pins

Thru hole for pins

WP-35, 42 WP-50, 63, 80

21




WESHE (FRE)

Bolt specifications and Transmitting torque (Open type)

ﬁ%% %'Iiﬁi’l’: Flex Gear Attachment

\prw

£S5 h%E

R~ Size 85 42 50 63 80
1222 R~f Bolt size M3 M3 M3 M4 M5
W8 22 N5 Bolt count 8 12 12 12 12
LI PCD [mm] |Bolt PCD 64 74 84 102 132
REAHEE [Nm] [Tightening torque 1.9 1.9 1.9 43 8.7
1257155 [Nm] Transmitting torque 119 206 234 495 1037
§ % V;J JIbJ-TE/I; Internal Gear Attachment
R~ Size 35 42 50 63 80
w224 R ~t Bolt size M3 M3 M3 M4 M5
BB 42 AN EY Bolt count 8 16 16 16 16
L2 PCD [mm] |Bolt PCD 44 54 62 77 100
ZES%E [Nm] Tightening torque 19 1.9 1.9 43 8.7
1£5 5% [Nm] Transmitting torque 82 200 230 498 1048

H—— ZRRNNE

¥ Internal gear attachment
RREMER |
Flex gear attachment "\ ™
== E—
REZ MR = -—— RERERD
Flex gear attachment\ Y/ Internal gear attachment
[
=i R
RREME ” Internal gear attachment

Flex gear attachment\

22



23

FLEXUWRAVE
i N\ BPALE) S
[ =' m ‘ : ﬁ

Wi N BB LAiE
WMANEBALES AIERE (BFROCEE) SN
Wa, FHRANLEEFERMAR,
FAERIFHIARTE.

Input section structure

There are two types of input section structure,
spline type (self-centering feature) and rigid type.

WEREE (B3iELEIE) __LEllEiafid]
Spline type (self-centering) Rigid type

WO fLERST
ORALERTAER.
HETRTEFLERTIATR, WAKLEE,
R E~RRTLEEE, MARHE,
HHETREEMSINRT, BB ITERKAF.

O]

Cam hole diameter

The diameter of the cam opening is customizable.
Holes smaller than the 'standard hole size' in the
table will be built in the spline type. Holes equal
to or larger than the 'standard hole size' and
smaller than the 'maximum hole size' will be built
in the rigid type. Please contact us if you need
sizes outside the specification in the table.

standard bore size

% R~F cam dimension [mm]
e 35 42 50 63 80
1ze
iREfLE 6 8 12 14 14

BRAFLEV

minimum thickness

> : 17 20 23 28 36
maximum bore size
&/NEE H 6 7 8 9 11




\prw

EEEM

.Eﬁ])\/iﬁ]ﬂjiﬂi H,‘Jiﬁé‘; (WPC_ D - D _C D) Shaft installation instruction

W\ / % IS SR B AR R T M ERAY IR 1= 53R / B 18 DA AT Y
XEME. (TRASH56)

Please design the support structure for input shaft and output shaft so that both radial and
axial loads are supported. (Diagram below shows an example)

iy tH b
Output shaft _ 5@])\513
L ( Input shaft
B | I 1 I N | I
5y
W=xEAE (WPC-O-0O-CD
Attachment flange requirement _
LTRSS REERBERIEZN, ATHLEERFEEER
B4R, BIRIETRATTRRT, B 2
For the attachment flange that comes in contact with flex gear, please build the R
corner radius according to the table below, in order to prevent damage. B8t
[mm]
HS | g 42 50 63 80
em
D 245 29 34 42 55
R 1.2 1.2 1.4 1.5 2
HIERl
M+ N s —
WEZEAE=R~T (WPU-O-0O-Cc0O) fa=n
Size requirement of the flange for motor attachment n | -
KRN ZEZABANH RN, FERRKETREZ u
Al % RERIE=ZRTIEREB TREAIRERNIT. o |- —
An attachment flange is required in order to attach a unit type Flexwave to the A RS "
motor. The table below shows the dimension requirement for the flange. U
[mm] A o
1?% 35 42 50 63 80
tem
B 73 79 93 107 138
T 38H7 48H7 56H7 67H7 90H7
t 3 3 4.5 45 45
0.03 0.04 0.04 0.04 0.04
0.03 0.04 0.04 0.04 0.04 t

24



FLEXWAVE
LR 3 ik

rog m*‘ %

.%m?c%ﬁiﬁ (WPU_ D - D _C D) Motor installation procedure

el r
BLESE1

Procedure 1
o NF k2Lt
llglf_kz‘zg EET{LJ: « Attach the flange on to the motor
e )I%lﬂ'li’[? (EEI ﬁ() #%%5 EE,HLEEIJ: « Attach the cam with elastic bearings to the motor shaft
2 =F « Attach th it
. ﬁ%iﬁﬁﬂf‘ﬁ:éﬂ{# ach the uni

=

(1]

e

Nl el
I/

A
o

)
i B R
—[—E AL * motor
= a =N
HERAH
unit k=
flange
WZRTR2
Procedure 2
o ) A it
II%E'EB (EE 7?() #Z’ZE EE'HLEE‘I: « Attach the cam with elastic bearings to the motor shaft
° ﬂ%iﬁé?%i EE,*J-LJ: + Attach the flange on to the motor
o + Attach the unit
c REEARESRAN

— &=

flange

(1]

=

——f ¢

-6 E }ﬂk
I

=0 g
A AR

unit

§§§?§T€1’EH§H§E§$M Caution during installation

- AREFHHH, FTALTERAE.
CGEEARAMFEHEANBIAN ASSY (D%, A,

« Do not use excessive force while mating parts
« Please watch for tilting during input section assembly (motor insertion into cam)

25




\prw

CEAER

. ﬁ f?:’f‘?ﬂe‘-*%}?z Transmission Angular Accuracy

~ 1.0
REESHEEENX _
Dy A ; ~E 05 RERSEE |
E?EJJEI;J—JL'FTEEHU\HHE%ETJ, R o Transmission Angular Accuracy
A : i = S R i LH C s ‘
Hig .tiﬁitﬂﬁﬁigﬁf;'—ﬁa:lzﬂiiﬁu I':Hﬁﬁ ﬁlﬁ( 5 00 i \H\M\MH.m;m‘lI““hl\v.m.‘\r H i "I"
HRENEE w0 i ‘MWWMWWWW
& :% -0.5 _/\
What is Transmission Angular Accuracy? = g
It is the difference between the measured output
rotation angle and the theoretical angle, while input —1.0O 90 130 270 360
shaft is rotated with no load. B ()
QOutput shaft rotation angle (deg)
N )
[arc min]
. R~t
l‘ﬁ‘l—.lsgtt Size
Ratio
35 42 50 63 80
50 20 20 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
SHE =1
.:'FETE‘?J"'\% Hysteresis Loss
) i o
WEREEN RS
o | . ~ wisting angle
WANERE, #7ERMNZR A
MEB 0 AFERHMmAREE. e
S RES
Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft in H4E
alternate direction repeatedly with input shaft fixed, 4 >
. . L ) / Torque
there is residual twisting angle when torque is back /
to zero.
In this context, hysteresis loss is the difference in
the forward and backward twisting angle.
N )
[arc min]
. R~t
l‘ﬁkl;Ett Size
Ratio
35 42 50 63 80
50 20 20 20 2.0 20
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0

26



27

FLEXWAVE

8RR

. Eai * % Bﬁ Maximum Backlash

[arc sec]
] S bely e (Y ) . R~
BRAGIRENX L Sizs
—_ Ratio
8\ ED SR P T SR B A 1 B 35 | 42 | 50 | & | s
Rl L] 50 27 27 18 16 16
R A EMIE Y 0, FiARIHRA 80 17 17 1 10 10
HEEA 0 100 13 13 8 8
120 - 11 7 7
What is Maximum Backlash?
In this context, maximum backlash is the output
backlash for spline type input shaft. (Backlash is
zero for rigid type input, because gear engagement
backlash is zero.)
g E4 0 | AF
.NIJ'HE (:t;.l- |7H ;:ﬂ\ gﬂ =] g—l) Stiffness (Closed type, Unit)
s a\
_ Ki--H%E 0~ T1 M3EEEH
mu“'ﬁiﬂé)‘( Spring coefficient at 0 ~ T, torque
. X : K2:-- 7156 T1 ~ T2 RUSEEEE 4
EI EE@J\W‘“’ llé}j] iEﬁﬁj]u igﬁ ﬁ Spring coefficient at T, ~ T, torque
MR EE M S A, K3+ 146 T, ~ MU HH
Spring coefficient at T, ~ torque
What is Stiffness? o
In this context, stiffness is the output shaft twisting S e~ T Ks
angle and the spring coefficient, while torque load Ky i
is applied to the output shaft with input side fixed. ;;) i
R i
L f \
e | :
Eﬂg K ' '
- E E
0 H |
T pmem
Load torque
> - 34 )L R‘TJ-
IR L Hix=3 ==X v] Size
Ratio item unit
35 42 50 63 80
- T, Nm 2 3.9 7 14 29
- T, Nm 6.9 12 25 48 108
K, x 10'Nm/rad 0.28 0.69 1.1 2.7 56
K, x 10'Nm/rad 0.45 0.85 1.7 3.3 7.1
50 K, x 10'Nm/rad 0.55 1.1 25 4.0 8.3
6, arcmin 2.3 2.2 20 1.8 2.0
e, arcmin 5.7 45 5.3 55 6.5
K, x 10'Nm/rad 0.45 0.92 1.2 3.3 6.9
80 K, x 10°Nm/rad 0.63 1.1 18 3.7 8.1
100 Ks x 10*Nm/rad 0.70 1.3 2.2 45 10
120 0, arcmin 1.8 1.3 1.8 1.6 1.7
0, arcmin 4.7 35 48 4.4 49

X RPHENTE.

Average value shown in the table




\prw

i IR

.)-I_;Il Ej] jj %E Starting Torque

[ecNm]
( P ) ‘ R~F
Eﬁ]t*ﬁﬂix P)ﬂiiﬁitt Size
. Ratio
BN EE SR, HAMFF g2 42 %0 63 80
&ﬁ\ﬁﬁf’f H,‘]jj%Eo 50 1.7 3.9 55 8.7 19
(iﬁﬁ, %iﬁiﬂfi : zsoc) 80 1.9 42 6.0 9.5 21
100 1.6 35 5.0 79 18
: . 120 - 2.8 40 6.3 14
What is Starting Torque? - P E— = R =
Input torque needed for input side to start * REEARGTRE, MEFEER, MULRIEHNSSERER,
rotating (no load, ambient temperature : 25°C ) For reference only. Torque value may vary depending on the condition.

.7]11 ij_i‘.)l?l ij] jj %E Output Starting Torque

[Nm]
(e ——— ) Rt
DERRENIIREE N R Sive
. Ratio
FH 40 I (SR EC e B, B LA FF £ i 20 £3 Y
ﬁﬁﬁﬁ%ﬁ@ﬁ%ﬁo 50 1.3 2.6 45 5.7 12
(R5u#, FERE : 25°C) B | 1o | 40 | 68 | 86 | 1o
100 2.1 44 1.5 9.5 21
What is Output Starting Torque? 120 _ 5.3 9.0 11 25
Output torque needed for output side to start * IRBEAZEARR, BREEEES, FILLERIEASEEER,
rotating (no load, ambient temperature : 25°C ) For reference only. Torque value may vary depending on the condition.
N J
—_—— = Eon A
WEfmEEAE (FHiAE, AE58)
No-load Running Torque (Closed type, Unit) [cNm]
\ R | s i
A [ i
KRS IEENX et 35 | 42 | 50 | 63 | 80
Eiﬁﬁ%ﬁ:?l 1§:ﬂ;ﬁﬁ$§ﬁﬁ 500r/min 3.1 5.1 11.2 13.7 26.1
%ﬂxgﬂ"]!‘;ﬁj]\{mljj] ﬁEo 50 1000r/min 34 54 12.4 15.2 28.6
(zlzﬁﬂai }Z{iﬁ“ﬁrg : 25°c) 2000r/min 3.6 59 13.6 16.9 31.3
3500r/min 3.9 6.3 14.9 18.8 34.2
What is No-load Running Torque? 500r/min 4.3 1.7 8.4 15.6 28.6
Input torque needed to keep it running with no 1000r/min 4.6 8.3 92 17.3 312
load I bi : 80
e )(a"erage value, amblent temperature 2000r/min | 50 | 89 | 101 | 192 | 342
~ / 3500r/min 54 9.6 11.1 214 374
500r/min 29 74 9.5 14.2 22.5
100 1000r/min 3.1 8.0 10.5 15.7 246
2000r/min 3.3 8.6 11.5 17.5 26.9
3500r/min 3.6 9.2 12.6 19.4 29.4
500r/min - 6.1 9.2 12.4 26.3
120 1000r/min - 6.5 10.1 13.8 28.8
2000r/min - 7.0 111 153 315
3500r/min - 1.5 12.2 17.0 345

X MEEARETRRE, BEFEER, MULEREASEERER.

For reference only. Torque value may vary depending on the condition.

28



FLEXWAVE

FHEBIR r

M A"

R (HiE, A8E)

Efficiency (Closed type, Unit)

« AT [%] : AR/ BRI A

«5F

SIRE : 25°C

X ERASENHAEEHE,

+ Percentile Load (%) is equal to load torque divided by
allowable average torque.

+ Ambient temperature : 25°C

* These diagrams represent the average value of the
actual measurement.

WPU-35-50 WPU-35-80
100 100
e 500 r/min 500 r/min
90 [ e===1000r/min 90 @ 1000 r/min
- e ) 000 r/min e 2000 r/min
é 80 H w3500 r/min 80 s 3500 /Min
2 70 70
i}
g 60 / g 60 bD—— § :
b 40 h 40 ////
30 / 30 /
20 20
10 10
0 20 40 60 80 100 20 40 60 80 100
ﬁﬁ [%] Percentile Load ﬁﬁ [%]
WPU-35-100
100
e 500 r/min
90 [ e===1000r/min
e ) 000 r/min
80 H w3500 r/min
70
5o J
=
2
40 /
30
20
10
0 20 40 60 80 100
Taer [%]

29




BE (FHAR, HE5E)

Efficiency (Closed type, Unlt)

- Tat [%] : AT AH%E / BIFEH AR
IMBIRRE : 25°C
xl%ﬁ%%ﬁﬁ%$ﬂﬁo

WPU-42(50)-50

\prw

IR

« Percentile Load (%) is equal to load torque divided by
allowable average torque.

+ Ambient temperature : 25°C

* These diagrams represent the average value of the
actual measurement.

WPU-42(50)-80

100

@ 500 r/min
90 H e=====1000 r/min
e 7000 r/min
80 s 3500 1/min

60

u
o

$ [%] Efficiency

Y
N
o

w
o

N
o

[any
o

0 20 40 60 80 100
ﬁﬁ [%] Percentile Load

100
90
80
70
60
50
40
30
20
10

2 [%]

7,

%

500 r/min

s 1000 r/min
s 2000 r/min

e 3500 r/min

/d

/4

7

20 40

Fafar [%)

60 80 100

WPU-42(50)-100

WPU-42(50)-120

100
@ 500 r/min
90 [ e===1000 r/min
e 7000 r/min
80 H w3500 r/min
70
— 60
E
-|$§{- 50
1K 40
30
20
10
0 20 40 60 80 100
Tatar [%]

100
90
80
70
60
50
40
30
20
10

5 [%]

%

@ 500 r/min

s 1000 r/min
s 2000 r/min
e 3500 r/min

20 40

Fafar [%]

60 80 100

30



31

FLEXWAVE

WRE (FHAE, AGE)
Efficiency (Closed type, Unit)
« A% [%] - ATARE / BIFFEHAE
< IMRIRE : 25°C
% ERAZN R TEHE.

WPU-63(80)-50

« Percentile Load (%) is equal to load torque divided by
allowable average torque.

+ Ambient temperature : 25°C

* These diagrams represent the average value of the
actual measurement.

WPU-63(80)-80

100

@ 500 r/min

90 [ e===1000r/min
e ) 000 r/min
e 3500 r/min

(o)
o

70
60
50
40
30
20
10

$ [%] Efficiency

7,

2

0 20 4 60 80 100
ﬁ o [%] Percentile Load

o

100

500 r/min

90 [ e==1000r/min
e 2000 r/min
80 e 3500 r/mMin
70
60

50
40

30 /
20
10

3 [%]

7,

2

0 20 40 60 80 100

WPU-63(80)-100

WPU-63(80)-120

100

@ 500 r/min
90 H === 1000 r/min
e 7000 r/min
80 H w3500 r/min

70

100

e 500 r/min
90 [ e==1000r/min
@ 2000 r/min
80 [ e====3500 r/min

" i

K [%]

%

40
30
20
10

60 /
50

20 40 60 80 100
Faar [%]

B 50

%o |
30 //
20
10

20 40 60 80 100
Faar [%]







f{eduéer Model / Specifications

I ;F&E*}lgy_% Reducer Model Nomenclature

WP || U 35

50

{%%2* . cD. CDH. SD. SDH
Code * REiEEESBR %

For the code details, please check the
Dimensions Table.

L JAEEE : 50, 80, 100, 120
Ratio

— R~ : 35, 42, 50, 63, 80

size @ IR Availability
L gég'zj_ : C.i;‘B{L'I;gl:J_ Ratio matrix
S---ffj%?gﬂiéi“ o[ T 50 | 80 | 100 | 120
U BAE .
EEE (hH) —_—
42
. Type : C...Component type 50
IR - WP 25 S...Simple unit type 63
Series name : WP Series U...Unit type
Hollow unit 80
Uﬂl@*ﬂiﬂ’l‘ﬁ Reducer Specifications
x1 X2 X3 X4 X5
Wik | BFTFEHMAE BFRANIE BERANE | BFEHBANEE | STFEaPAEE
JSQTJ- Ratio Nominal output torque | Maximum output torque | Emergency stop torque Nominal input speed Maximum input speed
ize
R
[Nm] [Nm] [Nm] [r/min] [r/min]
50 3.7 12 24
35 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 3000 7300
100 16 37 55
120 16 37 55
50 17 39 69
80 24 51 75
50 3000 6500
100 28 57 76
120 28 57 76
50 27 69 127
80 44 96 147
63 3000 5600
100 47 110 152
120 47 110 152
50 53 151 268
80 82 212 334
80 3000 4800
100 96 233 359
120 96 233 359

%1 HINEEE A 2000r/min BFRIARIFRKE

*1 The maximum allowable value at the input rotation speed of 2000r/min

X2 R, FILERBFFRAE

X3 EEERRNRITRAE

XA EREEP, FHRARENRTEANE
X5 IEREREY, WARENFITRAE

33

*2 The maximum torque when starting and stopping.
*3 The maximum torque when it receives shock.

*4 The maximum average input speed.

*5 The maximum input speed.



B EAE ERE

Closed Type, Component

wpPC-0-0-CD

LE

LF LG
LH
LJ
=
05 = 4-SU N-9LU
M-8ST N
1
SF
N| v E:E 0.3 E N 2
€| a s g€
< N oy s
LK
Y
X
[mm]
)§Z—ej' LA LB LE LF LG LH LJ LK N LU LW LT
35 44 50 11 6.5 45 1.4 - 0.3 6 3.5 - M3
42 54 60 125 75 5 1.7 - 0.3 8 3.5 - M3
50 62 70 14 8 6 2 3.3 0.3 12 3.5 6.5 M3
63 75 85 17 10 7 2 3.3 04 12 3.5 6.5 M3
80 100 110 22 13 9 25 4.4 0.5 12 45 8 M4
Ez_ej- SA SB SC SD SE SF CX CcY (074 M ST SuU
35 17 1 235 11 17 4 6.5 1 38 8 35 M3
42 19.5 1 27 15 21 5 75 1 45 8 45 M3
50 24 16 32 20 26 52 8 1.5 53 8 45 M3
63 30 20 40 24 30 6.3 10 1.5 66 8 55 M3
80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4

34



35

B HAE AR

Closed Type, Unit

WPU-[-0-CD

LG

LE

LF

LH

Y

s
SF

E|JE @, HENEE

a3l N s Rlg|¥sl=

s =Y Yoy s ®

|
LJ LM
LK
[mm]

’;\'T LA LB LC LD LE LF LG LH LJ LK LM N LU
35 49 55 31 425 25 23 05 2 5 147 | 17 6 35
42 56 62 38 495 | 265 | 245 | 05 2 5 162 | 17 10 35
50 64 70 45 58 2907 | 277 | 05 2 5 187 | 17 12 35
63 79 85 58 73 371 | 34.1 05 3 55 | 236 | 26 18 35
80 104 | 112 78 96 43 40 1 3 55 | 305 | 25 18 45
JS{? SA SB SC SD SE SF cY cz M ST su
35 25 12 11 11 17 4 1 38 10 M3 X 6 M3
42 27 14 11 15 21 5 1 45 8 M5 X 8 M3
50 34 18 16 20 26 52 15 53 8 M6 X 9 M3
63 42 24 20 24 30 6.3 15 66 8 M8 X 12 M3
80 57 32 30 32 40 8.6 2 86 10 M8 X 12 M4




iR Rt

Closed Type, Unit

WPU- [ - [ -CDH

LG

LE

LF

0-ring LH G-ting
==
SF
2| o|E| £\ EIE
als|gl€ ws g% gla
s - ) - sl e
&
] &
LJ LN
LK
LM
[mm]
E;e‘r LA LB LC LD LE LF LG LH LJ LK LM LN N LU
35 64 70 49 48 22 21.5 0.5 25 3.9 49 129 2.8 6 3.5
42 74 80 59 56 22.7 22.2 0.5 25 1.4 3.7 13.4 2.8 8 3.5
50 84 90 69 64 26.8 24.5 2.3 25 43 4.8 16.3 2.8 8 3.5
63 102 110 84 80 315 294 2.1 3 3.5 55 18.5 34 10 45
80 132 142 110 106 37 34.2 2.8 3 25 6 20.5 3.5 10 55
EzTej- SA SB SC SD SE SF Cz M ST SuU
35 42 30 11 1 17 4 38 8 M3 X 5 M3
42 50 34 11 15 21 5 45 10 M3 X 6 M3
50 60 40 16 20 26 52 53 8 M4 x 7 M3
63 73 52 20 24 30 6.3 66 8 M5 X 8 M3
80 96 70 30 32 40 8.6 86 8 M6 X 10 M4

36



R¥R

=0
g

B ARME HHAEEE

Open type, Simple unit

WPS-[-[0-SD

LE

LF

LG

LJ

SF

Z|E| = ENEE

2l g 3 ws gl s|gla

e| & © S| s

G| -
@
&
cv cY
[mm]

E_ef LA LB LC LD LE LF LG LH LJ N LT
35 43 70 50 49 175 15.5 2.4 2 15.7 8 M3 X 4.5
42 52 80 61 59 185 16.5 3 2 16.9 12 M3 x 4.5
50 61.4 90 71 69 19 17 3 2 17.8 12 M3 X 45
63 76 110 88 84 22 20 33 2 216 12 M4 X 6
80 99 142 114 110 279 | 236 36 43 273 12 M5 x 8
E;f SA SB sC SF CA cY cz cv cW M ST su
35 64 11 17 4 0.3 1 36.5 16 31 8 35 M3
42 74 15 21 5 0.3 1 435 2 37 12 35 M3
50 84 20 26 52 03 15 53 2 44 12 35 M3
63 102 24 30 6.3 03 15 66 2 56 12 45 M3
80 132 32 40 8.6 05 2 84 2 72 12 55 M4

37




I ARE AEE (h=H)

Open type, Unit (hollow shaft)

WPU- [ - O -SDH

LE

LG

LF

LH

LL

LK

L

Z|EIE EIE| |E

B3| 2 MEINE

s|ls| e AS¥ RN =3

LG

LP =
g
INPUT SHAFT FOR 35842
[mm]

Ez_‘ef A | B |w|w|wt|wr|lw|w|w!|w|]Lw]|w|Lw]L
35 | 43 | 36 | 52 | 70 | 455 | 195 | 12 | 14 | 65 | 75 | 9 | 25 | 55 | 65
42 | 52 | a5 | 62 | s0o | a8 | 205 | 12 |55 7 | 85 | 10 | 25 | 55 | 65
50 | 614 | 50 | 73 | 90 | 42 | 215 | 5 |55 7 | 85 | 105 | - - -
63 | 76 | 60 | 87 | 110 | 465 | 24 6 | 165 | 6 | 105 | 105 | - - -
80 | 99 | 75 | 114 | 142 | 55 | 286 | 7 | 194 | 75 | 119 | 12 - - -
Ez_ef sA | sB | sc | sop | seE | sF | m | sT su N LT
35 | 64 - 14 | 20 | 74 | 36 8 | 35 M3 8 |M3x45 ¢35 x 55
42 | 74 - 19 | 25 | 84 | 45 | 12 | 35 M3 12 | M3 x 45, ¢ 35 x 65
50 | 84 | 255 | 21 | 30 | o5 - 12 | 35 M3 X 6 12 | M3 x 45, ¢ 35 x 65
63 | 102 | 335 | 20 | 38 | 115 | - 12 | a5 M3 x 6 12 | M4 x 6 ¢ 45 x 85
g0 | 132 | a8 | 41 | 45 | 147 | - 12 | 55 M3 x 6 12 | M5x 8 ¢ 55 x 76




Y7 [
[ESF

—All for dreams

B H=E(RI)BIRCE)

NIDEC-SHIMPO (ZHEJIANG) CORPORATION

Mtk FHIEFT & X TR B 288 S
5SS :0573-8507-9561( X% )

£ ES%5 :0573-8509-3543  Hil4w :314200
www.nidec-shimpo.co.jp/

ZERBERERATHE 2016 £ 11 A, ARAWESHTRAMM =R, ABSFHITEE,
Copyright NIDEC-SHIMPO Corporation. All Rights Reserved.



